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(1) AABCizB8WT, AC =10, BC =6, COSAIic‘_’_L/, BACOHEEMETS, ZDLE, tanAd =
5

ThY, ABCM OIMEMDFRIL Ths.

(2) B f(x) = lz =1l = lz+2|+ [z =3| 2, fla) =0%iErTLE, a= Thd. Fi,
y=f(x) DT 57 & xilrChEnzMBOmIx Ths.

(3) k&R TEDFME T 5. 3XKEEK f(x) = kxd + 3kx? — Ykx + 3 DIGALHIE Thd. 72, f(x)=0
N IEDFEBRE R & 574 k OO FPHI Thb.

(4 FC: 22+ —2P2=125AQ, O2XHd. ZDOC EDOHEP L AZESIEIPAOTEEZ QLTS
&%, QDDA Thd. £/, QDL CHKD D MO x MR Thb.

(5) a > LIz U TER/AMED 2 TH BB f(x) = log,(x2 —2x+3) &, B g(x) =logy(2x — 122
5. ZOrE, a= THY, f(x)=g(x) 2T x OEX Ths.




